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There have been concerns about long-term use of a mobile phone and the .................. it
might have on the human body.

1) cause 2) content 3) effect 4) core

A change of manner would ............. be to the club's benefit.

1) certainly 2) carefully 3) recently 4) sharply

His future actions will ................... be of high interest to everybody.

1) certainly 2) carfully 3) firmly 4) efficiently

Do you know what ................ this decision will have on the future of the child?

1) habit 2) event 3) contact 4) effect

If youare ................ his progress, discuss it with one of his teachers.

1) tired of 2) necessary to

3) suffered by 4) worried about

"l don't know when ............. at the office." "I think he stayed home."

1) David arrives 2) David arrived 3) did David arrive 4) does David arrive
The Chinese were ............. the first tea drinkers in the world.

1) probably 2) continuously 3) extremely 4) completely
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